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�2 $<E+!4
6<(!4� E�!<
.AA�( D4 4��+
�!.!<��!4 =.4  .!��==!<$1��+!4  !< �96<A,
�!�0!4 E�!<F611: ��= 6�!<=A! �!�6A 1�DA!A�
�.�+ 4.�+A �<(!<4# �= .=A 4.�+A JD �4 !<4� �1=6
(.1A !=�  �= �!=A! �D=  !< �.AD�A.64 JD
2��+!4:�!< =.�+ �!<!.A= �D$  !2�!( .4=
�� �D=2�1A�  �==  .! �!�0!4 F611 =!.4
G!< !4� +�A2!4A�1 !.4!4 !<=A!4 ��+<.AA JD<
�<D=A�!G�1A.(D4( (!2��+A: �2 �!=A!4 F!<,
��=�+.! !A2�4 =.�+ F64 !.4!2 %.H!4 �<�.,
4.4(==611 D4 1�==A  .! �!(!�!4+!.A!4 .2�� 
!4A=�+!. !4� G.!  �= ��+G.22!4 �D==�+�DA:
�.!1! �� !< A<!44!4 ��+4!4 %E< �96<A,

=�+G.22!< ��: 
�4�+!  .!=!< ��+4!4
A<�(!4 �!44J!.�+4D4(!4G.! )�!296,
��+4* 6 !< =�+<!.�!4  !4 �!F6<JD(A!4
��+G.22=A.1 F6<: �A!+A2�4 4D4 =A�<A�!<!.A
�2 �!�0!4<�4 � 16+4A != =.�+�  !4 �1.�0
=�+G!.$!4 JD 1�==!4:�!1�+!< �<A G!.=A  .!
(E4=A.(=A!4 �1�AJF!<+�1A4.==! �D$� D2 =.�+
1�4(=�2 !.4 9��< ��+4!4G�<2 JD =�+G.2,
2!4; �= 16+4A =.�+ �D�+ .4  .!=!< �.AD�A.64�
 !2 )01�==.=�+!4* �D$��D !.4!= ��+G.22,
A<�.4.4(= JD $61(!4� D2 =!.4!4 �7<9!< (�4J,
+!.A1.�+ JD $6< !<4 D4 F!<=�+.! !4! 064 .,
A.64!11! ��0A6<!4 JD A<�.4.!<!4: ��= +!.==A�
�D$G�<2!4� A!�+4.=�+,066< .4�A.F!
��D4(!4� ��+4!11.(0!.A� �<�$A� �D= �D!<�
�11!4$�11= !.4 16�0!<!= �D==�+G.22!4
JD2 ��+1D==:
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�
���+  !2�D$G�<2!4 .=A JD E�!<1!(!4� 	=A !=
�D= �1�AJ(<E4 !4 =.44F611� 066< .4�A.F!
��D4(!4 %E< !.42�1 .4 �<D=A 6 !< �E�0!4
=�AA .4 �<�G1 JD ��=61F.!<!4; �!<<=�+!4
G627(1.�+ .2 �!+<=�+G.22�!�0!4 �!==!<!
�!<+�1A4.==!� D2 !.4.(! ��4(!4 !.4�<2.(�
2.A ��D=A!4�2.A !.4(!01�99A!4 ��D2!4�
6+4! �!.4=�+1�(� 2.A E�!<0<!DJA!4 �!.4!4
6 !< .4 �4 !<!4 =9.!1!<.=�+!4 ��<.�A.64!4 JD
�!=A<!.A!4; �!�+4.=�+! ��D4(!4 1�==!4 =.�+
.4 �11!4 ��(!4 9<�0A.J.!<!4 D4 %7< !<4  .!
066< .4�A.F!4 ��+.(0!.A!4�  .! != %E< !.4
!$%.J.!4A!= �6<G�<A=0622!4 �<�D�+A:
�D !2 1�==!4 =.�+2.A =61�+!4 ��D4(!4
�!296=�+G�40D4(!4 .44!<+�1� !.4!< ��+4
9<6�1!216= �D$$�4(!4� ��+G.22A2�4 �D$
!.4!4 �6< !<2�44 �D$� +!1$!4 !.4!2 A!�+4.,
=�+! ��<.�A.64!4�  �= �!296 JD  <6==!14: 
!
0<!�A.F!<  .! ��D4(!4�  !=A6 (<7==!<  !<
�!G.44 %E<  .! ��D9A=�+G.22�<A:
�E<= ��+4!11.(0!.A=A<�.4.4( 16+4A != =.�+�

�D$ !.4! �!296,��+4 JDG!�+=!14: �6< !<4
�.! =.�+2.A !.4!< 0D<J!4� ��!< �D==!<=A
0<�$A!J!+<!4 !4 �!<.!� �!.=9.!1=G!.=!
8K3&K26 !< 8C3C&2�  .! =.! .4 +6<<!4 !2
�!296 JD<E�01!(!4: ���+ /! !< �!.1=A<!�0!
(744!4 �.! =.�+ !.4! 1�4(!<! ��D=! " <D4 '&
�.= ?K �!0D4 !4 " �!F6<  !< 4��+=A! �9<.4A
$61(A: �.�+A.(� �!4 �A�<A !.4!< /! !4 ��4(!

 !4 �1�AJF!<+�1A4.==!4 �49�==!4 D4 !<=A .4
 !2
62!4A 16=1!(!4� G!44 !.4! �E�0!
!<0!44��< .=A:
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�
�
�!< 4D4 �4=A!+!4 ! 1�4(!<! �<�$A, D4 �D=,
 �D!<�16�0 =611A! . !�1!<G!.=! .4 !.4!< ��+4
=A�AA%.4 !4� .4  !<2�4  �= �!296 .4 =!.4!<
��D9A=�+G.22�<A 9<6�1!216=2.A+�1A!4
0�44: 
! 4��+ �!.=AD4(=4.F!�D =�+G.22A
2�4 JD4��+=A !.4! 0E<J!<! �A<!�0!2.A
�.4(!<9�  1!= 6+4! �0A.F!4 �!.4=�+1�(� D2
=.�+ 0<�$A!2�==.( JD $6< !<4: ��==!4  .!
�1�AJF!<+�1A4.==! .2��==!< !.4 ��+G.22!4
2.A ��  1!= �D$(<D4  !< !<+7+A!4 �!<1!A,
JD4(=(!$�+< 4.�+A JD� (!+A !=  .<!0A JD2
�D= �D!<�16�0: ���+
7(1.�+0!.A ��=61F.!<A
2�4 !.4! 1�4(!<! �A<!�0! 6+4! ��D=!4 .2
�6(  !<
.A=�+G.22!<� G6�!. =.�+ $!+1!4 !=
�D= �D!<A!2962.A �16==!4 0629!4=.!<!4
1�==A:�!< .22!<G.! !< �D$ F6<4! 1.!(!4 !
�96<A1!< �D$=�+G.22A� JG.4(A =.�+� 6+4!
�!.4=�+1�( D4 �11!4$�11= 2.A �D11,�D6I JD
A<�.4.!<!4� D2�!296F�<.�A.64!4 (!G.44,
�<.4(!4 ��JD$! !<4: �D�+ ��+<A=9.!1! 6 !<
!.4 �!GD==A!= �! DJ.!<!4  !< �A2D4(
 .!4!4  .!=!2 �G!�0:

�!< !.4 +6�+!$$!0A.F!= �<�.4.4( D4 !4(!
�1�AJF!<+�1A4.==! D4A!< !.4!4 �DA �<.4(!4
G.11� 0�442.A �!.4=�+1�(=!<.!4 4.�+A= $�1=�+
2��+!4: 	2�!(!4A!.1� �!.4=�+1�(=A<!�0!4
2.A +6+!< �� !4J !<+7+!4  �= =�+G.22!<.,
=�+! �<D4 A!296 D4 F!<�!==!<4  .! �9<.4A,
%�+.(0!.A: �!40��< =.4 0D<J! �A<!�0!4 .4
+6+!2�!2962.A 1�4(!4 ��D=!4� 6 !< �D�+
!.4! 1�4(!<! �A<!�0! �2 �AE�0 " G�+1G!.=!
2.A �16==!4: �= !29%.!+1A =.�+�  !<�<A.(!
	4A!<F�11!2.A !.4!2 ��+G.22�<!AA JD
��=61F.!<!4� G!.1 != G!4.(!< D2 �= �!=A.(!4
!.4!< �!�+4.0� =64 !<4 D2 !.4 �<�.4.4( .4
 !< ��D!<=A6$$=�+D1 (!+A: �.4 �!=64 !<=
!$$!0A.F!= �!.4=�+1�(A<�.4.4( �!. G!4.( �1�AJ
=A!11A  �= =6(!4�44A! )�!<A.��1 �.�0.4(*  �<�
!.4! CK, �.= ?K,=!0E4 .(! �!<.!� �!.  !<
�<�G1, 6 !< �!1%.4�!.4=�+1�( F!<A.0�1 .2
�.!$G�==!< )=A!+!4 * �4 �<A �D=(!%E+<A
G.< : �!< �69$ �!%.4 !A =.�+ E�!<  !<��=,
=!<6�!<$1��+!�  .! �<2! 1.!(!4 �2�7<9!< �4:
�4 JD (DA!< �!AJA� �.4 9��< +7$1.�+!

�6<A! JD  !4
.A=�+G.22!<4 =.4 4.! F!<,
0!+<A: �.!11!.�+A 1�==!4 =.�+ !.4 9��< �!<.!4
(!2!.4=�2 ��=61F.!<!4 6 !< G!4.(=A!4=
��2��+D4(!4 A<!$$!4�  �2.A 4.!2�4  �=
�<�.4.4( $<D=A<.!<A ���<.�+A:

�<!.A!4=96<A1!<�  .!  !4 ��+G.22=96<A .2
�11A�( JG.=�+!4 �!<D$� ��2.1.!41!�!4 D4 
G!.A!<!4 �!<9$1.�+AD4(!4 D4A!<�<.4(!4� =.4 
6$A (!JGD4(!4� .4 ��4 J!.A!4 JD A<�.4.!<!4�
$<E+ �2
6<(!4� .4  !<
.AA�(=9�D=! 6 !<
 .<!0A 4��+ �!.!<��!4 : ��G6+12�4 .22!<
G.! !< F64 �A+1!A!4 +7<A�  .! .+< �<�.4.4(
�D$ 4E�+A!<4!4
�(!4 ��=61F.!<!4� =!. �4
 .!=!< �A!11! (!=�(A��!< �!.2 ��+G.22!4
1!.=AD4(=%�+.( �1!.�!4 D4 G! !< �4G6+1,
=!.4 46�+ !.4!4 /�+!4 �!.=AD4(=��$�11 <.=0.!,
<!4G.11� 4.22A . !�1!<G!.=! <D4 ?K �.= 5K

.4DA!4 F6<  !2 ��+G.22A<�.4.4( !.4!
01!.4!� 1!.�+AF!< �D1.�+!
�+1J!.A JD =.�+�
 .! �D$ �6+1!4+I <�A!4 ��=.!<A: �.4.(! 064,
0<!A! �<4�+<D4(=A.99=:

���#���!������� ��������� �!G�+<A
+��!4 =.�+ +!11!= �<6A 6 !< �!.=G�$$!142.A
�64.(� �D==!< !2��4�4!4� �!A<!. !<.!(!1�
�6<<. (!�  �JD �!! D4 ��$$!!2.A $!AA�<2!<

.1�+: �62�!<J!+< F64
.1�+9<6 D0A!4G.!

6(+D<A� �D�<0� ��=! G.! �D�+
.1�+(!A<�4,
0!4G.< ��(!<�A!4�  � �<6A!.4! !.4! <!1�A.F
1�4(! �!<G!.1 �D!< .2
�(!4,��<2,�<�0A
+��!4: �!AA+�1A.(! =6G.! ��11�=A=A6$$<!.�+!
�9!.=!4 !�!4=6G.! ��=A� �<D�+A=�$A! D4 
06+1!4=�D<!+�1A.(! �!A<�40! 0744!4 �D$,
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�.! +��!4 =.�+ �.!1! %E<
 .! 4!D! ��.=64
(!=!AJA D4 =.4  .=,
J.91.4.!<A �2 �<�.4.!,
<!4; ��44 .=A (!4�D
/!AJA  !< <.�+A.(! �!.A,

9D40A� =.�+2.A  !< �<+61D4(
�D=!.4�4 !<JD=!AJ!4# �!(!4!<�,
A.642!.4A  .!�.! !<!<1�4(D4(
F!<16<!4!< �<�$A! D4 =611A!  !=,
+�1� 4.�+A !<=A .4  !4 �60D=
(!<E�0A G!< !4� G!44 =.�+
�!<!.A= 
�4(!1!<=�+!.4D4(!4
D4 �A<!===I29A62! =9E<��<
2��+!4: �D< G!<  .! 9!<=741.�+!
��1�4�! %.4 !A JG.=�+!4 �!.=,
AD4( D4 �<+61D4(� G.< =96<A,
1.�+ !<$61(<!.�+ =!.4:
�!.  !42!.=A!42!.4!< �1.!4,

A!4 0622A  .! �!(!4!<�A.64 JD
0D<J: �$A %�11A != �2�.A.64.!<A!4
�96<A1!<4 1!.�+A!<� =.�+ A<6AJ

E .(0!.A =A<.0A �4 .+<!4 �<�.,
4.4(=91�4 JD +�1A!4� �1= JD 9�D,
=.!<!4: �= (.�A .+4!4 !.4 �!%E+1
F64 �64A<611!� =.! (1�D�!4� %E<
.+<! �.!1! �D$  !2 <.�+A.(!4�!(
JD =!.4: �4 !<! %E+1!4 =.�+ .4
.+<!4 �11A�(=�4$6< !<D4(!4
(!$�4(!4 D4 %.4 !4 0!.4! $<!.!
�E�0!2!+< %E< ��D=!4:
	�+ !29$!+1!� 	+<! �!(!4!<�,

A.64 !�!4=6 JD 91�4!4 D4 JD
A!<2.4.!<!4G.! 	+< �<�.4.4(:
��= 0744!4 0D<J!
62!4A! 6 !<
�AD4 !4 =!.4: � !< G.!=6 4.�+A
�D�+ !.42�1 E�!<=�!!0!4 
F!<<!.=!4; �<+61D4( .=A =!+< .4 .,
F. D!11�  .!
�==4�+2!4 =.4 
F.!1%�1A.(: �.!=! �.99= 0744!4
	+<! �1�4D4( JD=�AJ1.�+ =A�<0!4�
8: �!<E�0=.�+A.(!4 �.! 07<9!<,

1.�+!� 2!4A�1! D4 =6J.�1!
�<+61D4(��!< .2�11A�( �!<!.A=
=A�<0 07<9!<1.�+ (!$6< !<A .=A�
=611A! JD< �<+61D4( !+!<  !4
�!.=A 2.A !.4!2�D�+ �4<!(!4
6 !< =.�+2.A �<!D4 !4 A<!$$!4:
��11= �.! A�(1.�+ F.!1 �!<�4AG6<,
AD4( A<�(!4 6 !< F.!1 2.A 
!4,
=�+!4 JD AD4 +��!4�2��+!4 �.!
!.4 1!.�+A!= �<�.4.4( 4��+ �D=A
D4 6+4! �.!1 6 !< G. 2!4 �.!
=.�+ 	+<!2��<A!4:
C: �1�4!4 �.! �0A.F! D4 9�=,

=.F!
�==4�+2!4� ��==.F2!.4A�
 �== �.!  .! �<+61D4( (!=�+!+!4
1�==!4� !AG� �!.2 ��-��+�D!4�
.4  !< ��D4� 6 !< �!.2 �6G!<,
4�9: �<(�4J!4 �.!2.A �0A.F!<
�<+61D4(G.! !.4!2 �A<!A�+.4(�
!.4!2���+A!==!42.A  !< ��2.,
1.! 6 !< �4A=9�44D4(=E�D4(!4:
B: �<1!�!4 �.! ��!<(�4(! JG.,

=�+!4 �!�4=9<D�+D4( D4 
�<+61D4( �!GD==A� �!4.!==!4 �.!
 .! �D=�+! 4��+  !2�<�.4.4(�
 !4 �!(!4!<�A.64=,�+�0! 6 !<
 .! �!4 !1J!.A JD<E�0 JD2
�<�!.A=91�AJ: ��= %7< !<A 4��+,
G!.=1.�+  .! �<+61D4(=%�+.(0!.A:
�<D4 =�AJ1.�+ (.1A� 
! .4A!4=.,

F!<  �= �<�.4.4( D4  !< �11A�(
=.4 �  !=A6 1�4(!< D4 G.�+A.(!<
.=A  .! �!(!4!<�A.64: �.4!
�D=(!G6(!4! �<4�+<D4( D4 
�D=<!.�+!4 ��+1�$ �.1 !4  �=
�D4 �2!4A> !<(�4J!4 �.!2.A
�!GD==A!4G!.A!<!4 �!.A$!4=,
A!<4: �4 �A2!4 �.! .22!<
G.! !< A.!$  D<�+:
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(<D4  !< +6<.J64A�1!4��==!<1�(!�  .!2�4
�!.2 ��+G.22!4 !.44.22A� 1!.�+A JD D4�4,
(!4!+2!2 =�D<!4 �D$=A6==!4 %E+<!4:

���#���!������� ����!!�� ���� ��
������ ��+G.22A2�4 E�!<
.AA�( 6 !<
4��+ �!.!<��!4 � �.!A!4 =.�+ �1= 	2�.== F6<
 !2 �661 ��1J�<!J!14� �<��0!<� !.4! 1!.�+A!
�1� 1., 6 !< �!2E=!=D99!�2.A2�(!<!2
�1!.=�+ 6 !< $!AA�<2!2��=! �!1!(A!
��4 G.�+!=� ��=.!<!4 �D$ +!11!2 �<6A� G.!
�D�+ �!A<!. !=A!4(!1 6+4! ��+6061� !4,
E�!<JD( �4:

��������� ��"�!�������6<  !2�<�.4.4(
4.�+A =�AA!==!4� =64 !<4 1!.�+A +D4(<.( .2
��11!4�� !.4A<!$$!4 D4  �%E< !.4 06+1!4,
+I <�A+�1A.(!=� =�D<!�<2!= �96<A(!A<�40 �4
 !4 �!�0!4<�4 2.A4!+2!4: 
! .4A!4=.F!<
 �= �<�.4.4(�  !=A6 G.�+A.(!< .=A  .!=!
��D=A<!(!1#

���� ������#���!���������!< 4��+
 !2 ��+G.22!4 �4�!.==+D4(!< 1!. !A�
9��0A =.�+ !.4!4 1!�0!<!4 �4��0 %E<  �4��+
.4  .! �96<AA�=�+! 6 !< %E11A =!.4! �9!.�+!<
�4 �<A D4 �A!11!2.A !.4!2 (!+�1AF611!4

.1�+,� ��$$!!, 6 !< �<6A!.4,�+�0! �D$� D2
 .! �!(!4!<�A.64 JD D4A!<=AEAJ!4:
������ �������
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